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8 45 How much of the chocolate bar does each child get?
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How would we write this as a fraction?
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o The chocolate bar is cut into 10 pieces.

On
5

lS 1 tenth of the bar.
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. o The chocolate bar is cut into 10 pieces.

. is 1 tenth of the bar.
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Watch me!
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Watch video clip "Explanation 1’
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7 o - is 2 tenths of the bar. What would this
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fraction be for
the same bar of

Bs H : chocolate?
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591 How do you know what is the N
34 correct fraction?
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52 How many pieces are shown?
5 | How many pieces are there altogetherr
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Count in tenths

o - is 3 tenths.
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Count in tenths out louc

7 tenths
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o This is 1.

What number does each stand for?
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71 Complete these fractions.!
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o Complete the number patterns.
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Going Deeper

Show as many different ways that you could make 5 tenths.
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Are there any other ways that you could show 5 tenths? Could you draw pictures to show it?
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